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Review for Graphing Quadratics Quiz

) y=(x-7+2

Axis of Symmetry is x=____

Vertex: (__,__)

Opens up or down?

Find pts 1 unit L/R of vertex: (___, ) &(

y-intercept: (0,__)
extra points (-5, ____)and (-6,__)
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2) y=—4x*+8x+3 a= b=

Opens up or down?

Is vertex a max or min?

y-intercept: (0,____)

Axis of Symmetry isx=_____

Vertex: (__,.__)

Find pts 1 unit L/R of vertex at (___,__) & (

3) y=—(x+8(x+1)
x-intercepts: ( ,0) ( ,0)
Axis of Symmetry is x=
Vertex: (___,___)
y-intercept: (0,____)
Extra point: (___, )
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Standard Form:

Vertex Form:

Intercept Form:
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5. Itis Super Bowl and teams that have made the play-offs have specialists _
per Bowl season eam e play haye o s that their

evaluating every aspect of their field game. One particular team re 17 +
recently injured kicker’s field goal kick is modeled by the function fl(t) =-16(x -
16, where h(t) is the height of the ball in feet t seconds after it is kicked.

a. If the football needs to clear a 17-foot goalpost, will the ball make it over if this

particular team member kicks it? Explain your answer.

b. What is the average rate of change of the football’s height from the moment it reaches#
its maximum height to the moment it hits the ground?

6. Find the equivalent equation across all three forms.

it Factored Form i ven e standard Form: 0 o[ yertex Formil i

f@)=(x-2)(x-6)

g(x) = x*-6x

h(x) = (x+3)* -9




Review for Graphing Quadratics Quiz

) y=(x-77+2

Axis of Symmetry isx=_1__

Vertex: (__q_, _?-_)

Opens @or down?

Find pts 1 unit LR of vertex: (§_3 )& (Lo, 3 )
y-intercept: (0._2_)

extra points (-5, |4) and (-6,17))
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2) y=—d+8xs3 a=-1b=§

y-intercept: (0._____)
Axis of Symmetry is x=
Vertex: (__l_._l_)

Find pts 1 unit L/R of vertex at ( 0,.3)&

c=3

2. 3

3) y=—(x+8(x+1)

x-intercepts: (—§_,0)( =} ,0)
Axis of Symmetry isx=__ -4, S
Vertex: (-9, 2% \,\%\fw«a

Voo <8 & - |

yisercept: O € ) s (-4 48) (24501

Extra point; (3, 1o ) yz - (3.9)(-2-5)
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Stan orm:

Vertex Form: lj 3 (X ul ﬂm -
Intercept Form:%f 6( + Q(H‘ ﬂ




5. Itis Super Bowl season and teams that have made the play-
evaluating every aspect of their field game. One particular team receive

offs have specialists .
d news thatthelr o

recently injured kicker’s field goal kick is modeled by the function h(t) =- 16(£- D +
16, where h(t) is the height of the ball in feet t seconds after it is kicked.

a. If the football needs to clear a 17-foot goalpost, will the ball make it over i

particular team member Kicks it? Explain your answer.
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b. What is the average rate of change of the football’s height from the moment it re
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6. Find the equivalent equation across all three forms.

©° Factored Form

fx)=(x-2)(x—6)
2 6_(’ QAcc X "-M

$6y: X -Kke2
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o)(f\'- X(X—(v)
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9(x) = x*—6x -(_ D—
108

3

15 ‘3(%"" q- ‘% = -9

W)= X (x+6)

S——

W= K+ Gx

h(x)=(x+3)*-9
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